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FOREWORD

The Agriculture Candidates’ Items Response Analysis Report on the Advanced
Certificate of Secondary Education Examination (ACSEE) 2019 was written in
order to provide feedback to students, teachers, parents, policy makers and other
education stakeholders on the candidates’ performance in Agriculture subject.

The Advanced Certificate of Secondary Education Examination marks the end of
two years of advanced level secondary education. It is a summative evaluation
which, among other things, shows the effectiveness of education system in general,
and education delivery system in particular. Essentially, candidates’ response in
the examination is a strong indicator of what the education system was able or
unable to offer to the candidates in their two years of Advanced Secondary
Education.

The performance in Agriculture subject in 2019 was generally good. Majority of
the candidates who passed the examination scored the lower pass grades. This
report highlights the reasons for the candidates’ low scores in this subject. The
analysis established that lack of good understanding of some topics, inadequate
field practical skills and failure to understand the requirements of some questions
were the factors for poor performance. It has been noted that candidates who
scored high marks were knowledgeable on the topics as well as practical skills and
met the requirements of the questions.

The feedback provided in this report will enable the education administrators,
school managers, teachers and students to come up with proper measures for
improving candidates’ performance in future examinations administered by the
Council.

Finally, the Council would like to thank all Examinations Officers, Examiners and
all who participated in the preparation of this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents the performance of the candidates who sat for the Advanced
Certificate of Secondary Education Examination in Agriculture subject in 20109.
The 2019 Agriculture Examination was set according to the examination format
issued in 2011, which was derived from the 2009 Agriculture syllabus.

The examination comprised of three papers namely, 134/1 Agriculture 1 and 134/2
Agriculture 2, both being theory papers. A practical paper was also involved that is
134/3 Agriculture 3. All papers consisted of short answer questions.

Paper 1 consisted of three sections; A, B and C. Section A consisted of five
questions. In this section candidates were required to answer three questions.
Section B and C had two questions each. Candidates were required to answer one
question from each section. Each question carried 20 marks. Paper 2 consisted of
two sections; A and B, containing five questions each. The candidates were
required to answer five questions by choosing at least two questions from each
section. Each question carried 20 marks. Paper 3 consisted of three questions and
the candidates were required to answer all of them. Question 1 carried 20 marks,
while questions 2 and 3 carried 15 marks each.

The general performance in this year’s examination was good. Candidates who sat
for the examination were 664 from 14 examination centers. The performance
indicates that 654 (98.49%) candidates passed, whereas 10 (1.51%) candidates
failed the examination. Candidates’ performance in this year’s examination has
increased by 0.28 percent compared to the last year (2018). Table 1.1 summarizes
performance of the candidates who sat for ACSEE 2019 in terms of grades.

Candidates’ Performance by Grades

Grades | A B C D E S F Total
Female 0 0 34 96 66 9 5 210
Male 0 10 72 196 153 18 5 454
Total 0 10 106 292 219 27 10 664

Source: NECTA Statistics Book, pg 6, ACSEE, 2019

The following section presents performance analysis in each question. The analysis
highlights the requirements of each question, candidates responses and possible

reasons for their good, average or poor performance. In the analysis, the
1



performance is considered as poor, average or good performance by considering
the candidates’ score percentage wise. Scores ranging between 0-34, 35-59 and 60-
100 is regarded as poor, average and good, respectively. Some extracts of the
answers showing candidates’ responses have been included to illustrate the cases
presented.

20 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

2.1 134/1 AGRICULTURE 1

2.1.1 Question 1: Farm Power

The question consisted of four parts namely (a), (b), (c) and (d) carrying 20
marks. The candidates were required to: (a) name the engine component which
convert reciprocating motion to rotary motion, (b) identify eight systems which
are commonly found on a tractor engine and give a function for each, (c) briefly
describe the operations of petrol and diesel fuel engines and (d) outline the
function of each of the following components of battery ignition system in a
petrol fuel engine: (i) coil (ii) distributor (iii) condenser (iv) spark plug and (v)
battery.

The question was attempted by 327 (49.2%) candidates, of which 68 (20.8%)
scored from 0 to 6.5 marks, 201 (61.5%) scored from 7 to 11. 5 marks and 58
(17.7%) scored from 12 to 20 marks. The analysis shows that the general
performance of the candidates in this question was good because 259 (79.2%)
candidates scored from 7 to 20 marks. Figure 1.1 shows the distribution of the
candidates’ scores.
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Figure 1.1: Candidates’ Performance on Question 1

According to Figure 1.1, the candidates performed well in this question. The
candidates who performed well in this question were able to provide correct
responses in parts (a), (b) and (d). This signifies good masterly of the topic on
farm power. Majority of the candidates were able to name the engine component
which converts reciprocating motion to rotary motion in part (a). Furthermore the
candidates managed to identify correctly the eight systems which are found on a
tractor engine and their functions in part (b). Moreover, they outlined correctly
the functions of components of battery ignition system in part (d). This indicates
that they had enough knowledge on the theoretical and practical aspects of the
tractor engine.

However, most of the candidates could not provide correct responses to part (c)
of the question due to misunderstanding of the demand of the question. Most of
them gave explanations on events in four stroke power engine such as Intake/
induction stroke, compression stroke, power stroke and exhaust stroke instead of
describing the operations of petrol and diesel fuel engines. This shows that the
candidates lacked competence on the operations of engines. Extract 1.1.1 is a
sample of good responses in question 1.
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Extract 1.1.1
This is a sample of the responses from the candidate who provided correct
responses in all parts of the question.

The candidates who performed poorly in this question were unable to provide
correct responses in most parts of the question. In part (a), the candidates failed
to name the engine component which converts reciprocating motion to rotary
motion by giving responses such as camshaft and connecting rod. In part (b) the
candidates failed to identify eight systems which are commonly found on a
tractor engine and the function of each system. Examples of incorrect responses
given by the candidates were like diesel system- is used to generate heat and
power to the tractor engine, petrol system-used to generate power in the tractor
engine. Some candidates in this group managed to name just few systems but
failed to give their functions. In part (c), the candidates provided incorrect
responses like: tillage operation from the large farm, harvesting in the farm by
using machines operated by the tractor engine, harrowing, carry the load by
using the tractor engine instead of describing the operations of petrol and diesel
fuel engines. In part (d), most of the candidates also failed to outline the function
of the named components of battery ignition system in a petrol fuel engine.
Incorrect responses provided were such as (i) coil- is used to allow fuel to move
from the pipe to the engine. (ii) distributor- is used to distribute fuel to where it is
necessary. (iii) condenser is used to pump fuel to the engine, (iv) spark plug- is
used to test the charge of the engine. (v) battery- supply electric current for
lighting when the engine is off. Generally, this indicates that the candidates had
inadequate knowledge and skills on tractor and its operations. Extract 1.1.2
exemplify poor responses from one of the candidates in question 1.
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Extract 1.1.2
This is an extract from one of the candidates who failed to provide correct
responses in all parts of the question.

2.1.2 Question 2: Farm Workshop

The question consisted of three parts; (a), (b) and (c) carrying 20 marks. The
candidates were required to; (a) (i) give the meaning of the term protective gears
as used in farm workshop (ii) describe five protective gears used in the farm
workshop (b) (i) suggest three main safety precaution to be considered in farm
workshop (ii) briefly explain the use of fire extinguisher in the farm workshop (c)
account for six factors to be considered when siting a farm workshop.

The question was attempted by 542 (81.6%) candidates, from which 145 (26.8%)
scored from 0 to 6.5 marks, 251 (46.3%) scored from 7 to 11.5 marks and 146
(26.9%) scored from 12 to 18 marks. These statistics indicate that the



performance of the candidates was good because 397 (73.2%) candidates scored
from 7 to 18 marks. Figure 1.2 shows the distribution of the candidates’ scores.

EWEAK
AVERAGE
EGOOD

46.3%

Figure 1.2: Candidates’ Performance on Question 2

The analysis shows that candidates who had good performance in this question
did well in almost all parts of the question. Majority of the candidates gave
correct meaning of the term protective gears and also described well the
protective gears in the farm workshop in parts (a) (i) and (a) (ii) respectively.
Likewise the candidates suggested correctly the safety precautions to be
considered in the farm workshop in part (b) (i) and explained well the use of fire
extinguisher in part (b) (ii). Nevertheless, besides giving correct responses for the
factors to be considered in siting a farm workshop in part (c), some of the
candidates provided incorrect responses. For example, one of the candidates
responded: type of work to be done, availability of materials, availability of
labour to work and availability of power source. This suggests that the candidates
had insufficient knowledge in the topic on farm workshop. Examples of good
responses are shown in extract 1.2.1 in question 2.
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Extract 1.2.1

The extract indicates good responses from one of the candidates who attempted

parts (a) and (b) correctly. In part (c), the candidate missed one point, thus could
not score full marks.

The candidates who performed poorly in this question failed to provide correct
responses to most parts of the question. In part (a) (i), majority of the candidates
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failed to give the meaning of the term protective gears. Some of the incorrect
responses provided by the candidates were; protective gears in farm workshop
refer to the tools part of machine which is used for controlling the movement of
the machine and protect it from damage, protective gears in farm workshop are
instrument used to protect farm tools for the meaning of protective gears in part
(@) (1). In part (a) (ii) the candidates did not managed to describe the protective
gears used in the farm workshop. For examples, one of the candidates responded:
starting gears, stopping gears, controlling movement gears, clutch, gear box,
don't run in the work shop, avoid smoking in the workshop, do not use the
machine if you do not understand. Moreover, the candidates were unable to
suggest safety precautions to be considered in the farm workshop in part (b) (i).
Some of the candidates provided incorrect responses like; there should be fire
extinguishers in the workshop so as to avoid fire risks, after using the instrument
clean properly and arrange in a good manner so that they can be well
maintained, avoid entrance of children or unauthorized people in the workshop.
In part (b) (ii), majority of the candidates also failed to explain the use of fire
extinguisher in the farm workshop. The response from one of the candidates was:
used to help shutting down fire in case fire burning when occurred in the
workshop. Few candidates in this group managed to explain the use of fire
extinguisher in the farm workshop. In part (c), the candidates also failed to
account for the factors to be considered when siting a farm workshop. The
candidates gave incorrect responses like; site or position selection, height, length,
width, facilities, availability of materials. The responses provided by the
candidates signify lack of knowledge on the area of farm workshop. Extract 1.2.2
exemplifies poor responses from one of the candidates in question 2.

11
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Extract 1.2.2

7

The extract shows a sample of a poor response from a candidate who provided

incorrect responses in almost all parts except part (b)(ii).

2.1.3 Question 3: Farm Structures

This question comprised of four parts, namely (a), (b), (c) and (d) carrying 20
marks. The candidates were required to: (a) differentiate (i) concrete block and
mud brick (ii) concrete and mortar (iii) foundation and footing (b) briefly explain
three factors influencing the design of farm structures (c) enumerate six features
of a good storage structure (d) suggest five farm structures and for each give its
importance to farmers

The question was attempted by 578 (87%) candidates, in which, 36 (6.2%) scored
from 0 to 6.5 marks, 230 (39.8%) scored from 7 to 11.5 marks and 312 (54%)
scored from 12 to 20 marks. This signifies a good performance because 542
(93.8%) candidates scored from 7 to 20 marks. Candidates’ scores are shown in
Figure 1.3.
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Figure 1.3: Candidates’ Performance on Question 3

The analysis show that majority of the candidates had good performance because
they provided correct responses in almost all parts of the question. In part (a),
most of the candidates were able to differentiate the parameters given in (i), (ii)
and (iii). In part (b), the candidates managed to explain the factors influencing
the design of farm structures. The candidates correctly enumerated features of a
good storage structure and also suggested well farm structures and their
importance to farmers in part (c). This shows that the candidates were
knowledgeable on farm structures. Extract 1.3.1 indicates one of the candidate’s
good responses in question 3.
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Extract 1.3.1
This is a sample of the responses from one of the candidate who provided
correct responses to all parts of the question.

The analysis indicates further that, some candidates performed poorly in this
question. Their poor performance was attributed to candidates' inability to provide
correct responses to most parts of the question. In part (a) (i), the candidates failed
to differentiate between concrete block and mud brick by providing incorrect
responses like; concrete block is the block that is made up by sand, gravel, and
cement while mud brick is the blocks formed by the combination of soil (clay) and
water, (ii) concrete is the mixture of different materials like sand, cement, and
water to form stone concrete while, mortar is the tools used during the mix of
cement and then to smoothing the house (iii) foundation is the structure which give
ventilation hence control air and wind movement while footing is the process of
measuring the length of the angles within the roof. In part (b), the candidates
failed to provide correct responses on the factors influencing the design of farm
structures and gave incorrect responses like; roofing structure, wall materials,
climate. Likewise, in part (c), majority of the candidates incorrectly enumerated
features of a good storage structure. Examples of incorrectly responses from one
of the candidates were strength of the structure, stability of the material,
conductance capability, fire resistance, durability of structure. Majority of the
candidates in this group also failed to suggest farm structures and give their
importance to the farmers in part (d). For examples one of the candidate
responded: foundation, wall and roof. Only few candidates attempted correctly
this part. The candidates who performed poorly in this question had inadequate
knowledge on the theoretical aspects and poor practical experience on farm
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structures. Extract 1.3.2 is a sample of poor responses from one of the candidates
in question 3.
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Extract 1.3.2

The extract shows a sample of poor response from the candidate who provided

incorrect responses to almost all parts except in part (a) (ii).

2.1.4 Question 4: Farm Mechanization and Machinery

The question comprised of four parts: (a), (b), (c) and (d) carrying 20 marks. The
candidates were required to: (a) compare a seed drill with a planter (b) briefly
explain seven functions of the seed drill components.(c) elaborate four functions
of double mouldboard plough and (d) briefly describe the mode of operation

performed by a combine harvester.

The question was attempted by 54 (8.1%) candidates only, in which 25 (46.3%)
scored from 0 to 6.5 marks and 29 (53.7%) scored from 7 to 11.5 marks. The
analysis shows that the general performance was average because 29 (53.7%)
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candidates scored from 7 to 11.5 marks. Distribution of candidates’ scores’ is
shown in Figure 1.4
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Figure 1.4: Candidates’ Performance on Question 4

In this question most of the candidates had average performance because they
provided correct responses in parts (a), (b) and (c), but failed in part (d). In part
(a), the candidates were able to compare seed drill with planter as the question
demanded. In part (b), the candidates managed to explain functions of the seed
drill components, although majority were not able to exhaust all the points. In
part (c), the candidates correctly elaborated the functions of double mouldboard
plough. However, majority of the candidates failed to describe the mode of
operation performed by a combine harvester. Some of the candidates explained
the functions of other harvesting machines instead of a combine harvester. Some
of the candidates explained the functions of other harvesting machines. The
responses given by the candidates justify the fact that the candidates had
inadequate knowledge and lack adequate practical skills in most of the farm
implements. Extract 1.4.1 is one of the candidates’ good responses in question 4.
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Extract 1.4.1
This is a sample of the responses from the candidate who provided correct
responses in parts (b) and (c) and correctly responded to some parts of (a) and (d).

i

pefarm_as,

The candidates who performed poorly in this question were unable to provide
correct responses to most of the parts in the question. In part (a), the candidates
failed to compare seed drill with a planter by providing incorrect responses like;
seed drill is the machine which sowing seed through dropping seed in the
continuous furrow and covered while planter is the machine which involve
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seedling not seed example of planter is paddy planter. In part (b), most of the
candidates failed to give explanations on functions of the seed drill components.
Examples of incorrect responses given were such as used to deliver the seed, used
to meter out the seed, used to ensure the correct amount of seed if being placed in
a particular hole, used to carry the seed used to atomize the seed. Likewise in
part (c), the candidates failed to elaborate functions of double mouldboard plough
by providing incorrect responses like; it is used for losing strength of the solil, it is
used for burning grasses and other materials, it is used for pulverizing soil slice,
it is used for leveling aggregates and pads. In part (d), the candidates also did not
manage to describe the mode of operation performed by a combined harvester.
Instead of describing the operations of the machinery, most of the candidates
outlined the use of machinery such as the combine harvester is the machine
which is used to harvest the cereal crops, after harvesting it process the crop to
reduce the bulkiness of the crop for easy storage, it is also used for planting
crops in the field. The responses from the candidates imply that they lacked
knowledge and practical exposure on farm implements, as shown in extract 1.4.2
in question 4.
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Extract 1.4.2
This is a sample of poor responses from one of the candidates. The candidate
provided incorrect responses in all parts of the question.

2.1.5 Question 5: Introduction to Irrigation

The question comprised of three parts, that is (a), (b) and (c) carrying 20 marks.
The candidates were required to: (a) enumerate three equipment used to carry out
overhead irrigation at the home garden (b) explain the following surface
irrigation methods (i) free flooding (ii) checks (iii) boarders (iv) basin (v) furrow
and (c) outline seven factors to be considered when operating sprinkler irrigation
system.

The question was attempted by 492 (74.1%) candidates, in which 183 (37.2%)
scored from 0 to 6.5 marks, 226 (45.9%) scored from 7 to 11.5 marks and 83
(16.9%) scored from 12 to 17 marks. The analysis shows that the candidates
performed well because 309 (62.8%) candidates scored from 7 to 17 marks.
Figure 1.5 shows the distribution of the candidates’ scores.
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Figure 1.5: Candidates’ Performance on Question 5

Figure 1.5 illustrates that candidates’ performance was good. Most of the
candidates who had good performance attempted correctly most parts of the
question. The candidates managed to enumerate equipment used to carry out
overhead irrigation at the home garden in part (2). In part (b), the candidates were
also able to explain the named surface irrigation methods. Most of the candidates
in this group correctly outlined factors to be considered when operating sprinkler
irrigation system in part (c). However, some candidates provided incorrect
responses such as availability of labour, type of soil, topography of the area, type
of crop, an area which is easily eroded by water, an area with even topography
as the factors to be considered when operating sprinkler irrigation system.
Generally, the candidates had good mastery of various irrigation methods and
systems. Extract 1.5.1 exemplify good responses from one of the candidates in
question 5.
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The analysis indicates further that some candidates performed poorly in the
question. In part (a), the candidates failed to enumerate the equipment used to
carry out overhead irrigation at the home garden. Some of the incorrect responses
provided in this part were tank- for carry or store the water for irrigation, lift
pump- this help to push the water or to apply water into the garden, nozzles- this
help the water to be applied in pressure form in the garden. In part (b), the
candidates were not able to explain the named surface irrigation methods and
provided incorrect responses. For example checks- this is the method of the
surface irrigation whereby water is allowed to flow in the entire area of the field,
boarders- this is the irrigation which take place between the row of the plant and

and heace Spradirng Of ‘M%nrf P-.rlﬁ\:lbhf'f'?'r
Extract 1.5.1

The extract represents good responses in the gquestion. The candidate attempted
well almost all parts of the question except in part (c) where he/she missed one

of the points.
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another row in the farm, furrow- this is the irrigation system which applied into
the surface of the soil by using sprinkler methods. Moreover, in part (c), the
candidates also failed to outline factors to be considered when operating sprinkler
irrigation system and provided incorrect responses as the type of crop to be
irrigated, the soil depth, consider topography of the place, skilled labour for
repair and connecting leakage system, soil physical properties, total cost of
running program, capital available. Poor responses given by the candidates
indicate insufficient knowledge and skills on irrigation methods and systems.
Extract 1.5.2 portrays a sample of poor responses in the question.
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Extract 1.5.2

This is a sample of poor responses from a candidate who provided incorrect
responses in all parts of the question.

{

1

{

i

2.1.6 Question 6: Introduction to Soil Science

The question consisted of four parts; (a), (b), (c) and (d) carrying 20 marks. The
candidates were required to: (a) define the term weathering as used in soil
formation (b) briefly explain two types of rock weathering and show how they
relate to each other (c) explain the four main agents of weathering work on rocks
(d) give one chemical equation in each case, explain any five processes involved
in chemical weathering of rocks.

The question was attempted by 326 (49.1%) candidates, of which 161 (49.4%)
scored from 1 to 6.5 marks, 161 (49.4%) scored from 7 to 11.5 marks and only 4
(1.2%) scored from 12 to 13 marks. Generally, the performance was average
because 165 (50.6%) candidates scored from 7 to 13 marks. Candidates’ scores
are shown in Figure 1.6.
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Figure 1.6: Candidates’ Performance on Question 6.

The analysis indicates that although most candidates’ performance was average,
some few candidates had good performance in this question. The candidates were
able to provide correct responses in almost all parts of the question. In part (a) the
candidates correctly defined the term weathering and managed to explain the
types of weathering in part (b). However, the candidates failed to give the
relationship of the two types of weathering in part (b). In part (c), the candidates
were also able to explain how the agents of weathering work in rocks. In
addition, the candidates managed to explain the processes in chemical weathering
but failed to give the associated chemical equations for the processes. In general,
the candidates seemed to possess good understanding of the process of
weathering. Extract 1.6.1 is a sample of responses from a candidate who did well
in question 6.
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The candidates who had poor performance provided incorrect responses in most
In part (a), the candidates failed to define the term
weathering. An example of incorrect response given by one of the candidate was
weathering is the process in which the soil either by chemical or physically are
down into small particles by which can be deposited to form the soil.
Consequently, in part (b) the candidates also failed to give explanation of the two
types of rock weathering and their relationship. Some of the incorrect responses

parts of the question.

broken

Extract 1.6.1

This is a sample of good responses from a candidate who gave correct responses

in almost all parts.
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provided were indigenous rock: is the type of rock whereby the natural rock
disintegrate to each other due to the presence of higher temperature or pressure
to form soil particles. Sedimentary rock is the type of rock which formed when the
rock undergoes exfoliation and disintegration. In part (c), some candidates in this
group managed to name few agents of weathering but failed to explain how they
work in rocks. Other candidates provided incorrect responses such as land,
labour, capital and entrepreneurship.

In part (d), which required the candidate to explain five processes involved in
chemical weathering of rocks, the candidates, provided incorrect responses as
flocculation is the breaking down of parent rock by using chemicals on reaction
between calcium carbonate and water. CaCO3+H,0 — H,CO3;+Ca(OH);
exfoliation refers to the process in which large particle disintegrate into smaller
particles to form soil. Fe; SOy3 +H,0— Fe*"+504*

Abration refers to the process of weathering to form a soil under reduction
process.2 CuS, ——»Cu,0

Carboxylation; this is the process whereby the carbondioxide is added to the
rocks containing the mineral elements that react with it and cause weathering,
Crystallization is the process which involve the crystallization of rocks. Inability
to provide correct responses in most parts of the question signify inadequate
knowledge on weathering process. Extract 1.6.2 illustrates candidate’s poor
responses in the question.
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Extract 1.6.2
The extract represents one of the poor responses in which the candidate gave
incorrect responses in most parts of the question except in part (a).

2.1.7 Question 7: Introduction to Soil Chemistry

The question consisted of three parts, namely (a), (b) and (c) carrying 20 marks.
The candidates were required to: (a) explain five factors affecting composition of
farmyard manure. (b) briefly explain the following terminologies as used in
fertilizer application: (i) fertilizer (ii) fertilizer analysis (iii) fertilizer grade (iv)
fertilizer ratio and (c) outline any six function of essential plant nutrients.

The question was attempted by 337 (50.8%) candidates, in which 198 (58.8%)
scored from 0 to 6.5 marks, 126 (37.3%) scored from 7 to 11.5 marks and 13
(3.9%) scored from 12 to 18.5 marks. The general performance in the question
was average, because 139 (41.2%) candidates scored from 7 to 18.5 marks. The
candidates’ scores are summarized in Figure 1.7.

37



60.00

50.00

40.00

30.00

20.00

Candidate Percentage

10.00

0.00

AVERAGE GOOD
|lSeriesl 58.80 37.30 3.90

Scores

Figure 1.7: Candidates’ Performance on Question 7

As per Figure 1.7, the general performance of the candidates in question was
average. Most of the candidates who had good performance provided correct
responses in most parts of the question. In part (a) the candidates managed to
explain the factors affecting composition of farm yard manure. In part (b), the
candidates attempted well items (i) and (ii) but failed to explain terminologies in
items (iii) and (iv). Examples of incorrect responses for the terminologies were
(iii) fertilizer grade: this is the quality of fertilizers synthesized and applied to the
farm, fertilizer grade refer to the content that fertilizer contain, (iv) fertilizer ratio
is the relative proportional of element and nutrients in which the fertilizer
composed, fertilizer ratio: this is the amount of fertilizers used per land cultivated
(hectre). The candidates responded correctly on the functions of essential plant
nutrients in part (c). The analysis of their performance suggests that the
candidates were knowledgeable enough on plant nutrition. Extract 1.7.1 shows
responses from one of the candidates with good performance in question 7.
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Extract 1.7.1
This is a sample of good responses from a candidate who gave correct
responses in most parts, except that he/she failed to provide correct responses in

part (a).
The candidates who performed poorly in this question failed to respond correctly
to almost all parts of the question. The candidates could not provide correct
responses on the factors affecting the composition of farm yard manure in part
(a). Some of incorrect responses provided were as preparation method- the farm
yard manure is affected by the method used for its preparations, climatic
condition-conditions such as rainfall and very dry condition affects the
composition of farm yard manure, black colour- the rate of decomposition is
determined by the black colour due to absorption of heat, residual- presence of
residual increase composition of manure, while absence lowers the composition
of manure. In part (b), the candidates failed to provide correct explanations on the
named terminologies, as shown in; (i) fertilizer; this is the substance added to the
pant which increase one or more nutrients. (ii) fertilizer analysis is the process of
determining the different types of fertilizer, is the evaluation of fertilizer to know
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its productivity and efficiency. (iii) fertilizer grade refer to the content that a
fertilizer contain, (iv) fertilizer ratio is the relative proportional of element and
nutrients in which the fertilizer composed. In part (c), the candidates were also
unable to outline the functions of the essential plant nutrients by giving incorrect
responses like; ensure supply of ions to the plants, reduce the effect of plant
deficiency during production, improve the structure of the soil, they are used in
seed germination, to avoid deterioration and ensure production of high yield. The
incorrect responses provided by the candidates in this question shows that the
candidates had insufficient knowledge on plant nutrition. Extract 1.7.2 shows
responses from one of the candidates with poor performance in question 7.
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Extract 1.7.2

This is an example of poor responses from the candidate who failed to give

correct responses to all parts of the question. The candidate showed the lack of
knowledge on plant nutrition.
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2.1.8 Question 8: Agricultural Production Economics

The question comprised of three parts; (a), (b) and (c) carrying 20 marks. The
candidates were required to: (a) study the given curves of different product -
product relationships and describe the relationships between (i) Y;and Y, (ii) Y3
and Yy, (iii) Ys and Ys, (iv) Y7 and Yg, (b) give the meaning of the following as
used in production economics (i) production function (ii) total products (iii)
average product (iv) marginal product and (c) briefly explain two characteristics
of each of the three regions of the production functions.

The question was attempted by 477 (71.8%) candidates, among which 109
(22.9%) scored from O to 6.5 marks, 213 (44.6%) scored from 7 to 11.5 marks
and 155 (32.5%) scored from 12 to 18.5 marks. The analysis suggests that the
general performance was good because 368 (77.1%) candidates scored from 7 to
18.5 marks. Figure 1.8 shows the distribution of the candidates’ scores.
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Figure 1.8: Candidates’ Performance on Question 8

In view of Figure 1.8, the general performance of the candidates in the question
was good. The candidates who did well in the question attempted correctly most
parts of the question. In part (a), the candidates managed to describe the product-
product relationships given. Likewise, in part (b) the candidates were also able to
give the meaning of the named parameters. In part (c), the candidates were able to
explain the characteristics of the three regions in production function though not
exhaustful. Their performance is an evidence that the candidates had good
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understanding of the topic on production economics. Extract 1.8.1 indicates one
of the candidates’ good responses in question 8.
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Extract 1.8.1

This is a sample of good responses whereby the candidate provided correct
responses in most parts of the question except in part (b) (iii) and (b) (iv).

It was noted further that the candidates who performed poorly provided incorrect
responses in most parts of the question. In part (a), the candidates failed to
describe the product-product relationships given in the curves. Some of the
candidates described the types of elasticity instead of product-product
relationships. Moreover, the candidates failed to give the meaning of the given
parameters and provided incorrect responses such as (i) production function is
product obtained from the farm output, is the type of product to produce goods
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and services on the production function, is the type of production which involves
the production of the economic, (ii) total product is the sum of output produced
(iii) average product is the marginal product per total product, average product
is the product obtained when the farm sells farm products, (iv) marginal product
is the change of product over the change of demand, is the change in total
product over total product, is the marginal product per total product, marginal
product is the product obtained when the farm sells products to the farmer
boundaries. In part (c), few of the candidates managed to give the characteristics
of either region I or region 111, while majority failed to explain the characteristics
required. Examples of incorrect responses given were: land function, labour
function and market function. Regions of production function; Total product-it
determine the total whole product, it determine the total whole value of inputs,
Marginal product-it determine the value of output if decrease or increase,
Average product-it determine the difference between the value of output and the
value of input, it determine the amount of product produced. This is an indication
that the candidates had insufficient knowledge on production economics. Extract
1.8.2 shows one of the candidates’ poor responses in question 8.
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Extract 1.8.2

The extract is a sample of poor responses from one of the candidate who provided
incorrect responses in all parts of the question due to lack of knowledge on
production economics.

2.1.9 Question 9: Introduction to Agricultural Prices

The question consisted parts (a), (b) and (c) carrying 20 marks. The candidates
were required to: (a) (i) give the meaning of the term oligopoly (ii) give four
characteristics of oligopoly market condition (b) briefly describe the following
functions of marketing: (i) standardization (ii) financing (iii) risk bearing (iv)
market intelligence (v) price setting and (c) give the difference between black
market and open market.

The question was attempted by 186 (28%) candidates, in which 70 (37.6%)

scored from 1 to 6.5 marks, 88 (47.3%) scored from 7 to 11.5 marks and 28
(15.1%) scored from 12 to 18 marks. The general performance in this question
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was good because 116 (62.4%) candidates scored from 7 to 18 marks.
Distribution of the candidates’ scores is summarized in Figure 1.9.

EWEAK
AVERAGE
EGOOD

Figure 1.9: Candidates’ Performance on Question 9

The analysis shows that majority of the candidates performed well in this
question. In part (a) most of the candidates were able to give the meaning of the
term oligopoly and its characteristics. However, some few candidates provided
incorrect responses such as oligopoly is the situation whereby there is a large
number of firm at a particular area in order to increase the production, oligopoly
is the type of market whereby there is only one seller in the market and many
buyers in this there is less competition since there is only one seller in part (a) (i)
and no competition in the market, higher cost of goods for buyer, seller get
enough profit since she/he is dominant market, no fair and free exchange,
interdependence, investment barriers, barriers of entry or exit, presence of
transport cost in part (a) (ii) for the characteristics of oligopoly market
conditions. It was also noted that the candidates who performed well were able to
describe the named marketing functions and correctly gave the difference
between black market and open market in parts (b) and (c) respectively.
Responses provided by the candidates show their good mastery on the area of
agricultural marketing. Extract 1.9.1 exemplifies good responses from one of the
candidates in question 9.
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Extract 1.9.1
This is a sample of response from the candidate who performed well in all parts
of the question except in part (b) where he/she provided weak responses.

The candidates with poor performance had almost all parts of the question
incorrectly attempted. In part (a) (i), the candidates failed to give correct meaning
of the term oligopoly. An example of incorrect response from one of the
candidates was oligopoly is the marketing condition in which there is interaction
between the buyers and sellers within the same marketing condition. Similarly, in
part (a) (ii) the candidates failed to give characteristics of oligopoly market
condition by giving incorrect responses like; no competition in the market, higher
cost goods for buyer, seller get enough profit since she/he is dominant market. In
part (b), the candidates also did not managed to describe the given marketing
functions. Examples of incorrect responses provided were standardization as the
equalization of the commodity or price at a reasonable factor in the marketing,
financing- include marketing product to be free from unnecessary costs like
transport cost by financing taxes, risk bearing- is the situation whereby the
market manager is taking about the problems occur even though the cause of the
problem is not exactly known, marketing intelligence- is the situation in which all
the process involved in the market are controlled well without causing any effect
on the production process. In part (c), the candidates were unable to give the
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difference between black market and open market. Most of them managed to
provide the definition of the two types of markets instead of differentiating them.
This group of candidates proved to possess inadequate knowledge on agricultural
marketing. Extract 1.9.2 indicates poor responses from one of the candidates in
question 9.
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Extract 1.9.2

This is a sample of responses from a candidate who performed poorly in

question. The candidate only managed to provide one correct response in part (b)

(V).
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2.2 134/2 AGRICULTURE 2

2.2.1 Question 1: Plant Breeding

This question comprised of two parts: (a) and (b) carrying 20 marks. The
candidates were required to: (a) write a brief account on eight advantages and
four disadvantages of using pedigree method of plant breeding and (b) outline the
general procedures which are used in developing crop varieties by mass selection.

The question was attempted by 85 (12.8%) candidates, of which, 74 (87.1%)
scored from 0 to 6 marks, 10 (11.7%) scored from 7 to 11.5 marks and only one
(1.2%) scored 13 marks. The general performance was poor because 11 (12.9%)
candidates scored from 7 to 13 marks. Figure 2.1 shows the distribution of the
candidates’ scores.
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Figure 2.1: Candidates’ Performance on Question 1

The analysis has revealed that the candidates with poor performance in this
question provided incorrect responses in both part of the question. In part (a), the
candidates failed to give the advantages and disadvantages of pedigree method in
plant breeding. Most of the candidates failed to meet the demand of the question
by giving the advantages and disadvantages of breeding in general, instead of
those for pedigree method. In part (b), the candidates also failed to outline the
general procedures which are used in developing crop varieties by mass selection.
Examples of the incorrect responses provided by candidates were produce plants
which are resistant to pests and diseases, produce plants with high productivity.
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The responses given by this group of candidates show that the candidates had
inadequate knowledge on plant breeding. Extract 2.1.1 is an example of
candidate’s poor responses in question 1.
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The candidates who performed well in this question were able to provide some
responses which were relatively correct in both parts of the question. For
example, candidates provided advantages and disadvantages of pedigree method
and outlined procedures for developing crop varieties using mass selection in part
() and (b), respectively. Generally, the candidates had insufficient knowledge in
plant breeding. Extract 2.1.2 denotes good responses as provided by one of the

l Vant &y -
~J
Extract 2.1.1

This is a sample of responses from a candidate who performed poorly in all parts

of the question due to inadequate knowledge on plant breeding.

candidates in question 1.
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Extract 2.1.2

The extract shows good responses from the candidate who performed well in

almost all parts, except part (b).
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2.2.2 Question 2: Plant Diseases

The question had three parts, namely (a), (b) and (c) carrying 20 marks. The
candidates were required to (a) given the symptoms of the disease (i) give the
name of the disease (ii) give the causative agent of the disease and write its
scientific name (iii) suggest six cultural measures for the disease, (b) enumerate
seven reasons as to why people study plant diseases and (c) briefly explain four
major factors influencing the occurrence of epiphytotic diseases in the field.

The question was attempted by 171 (25.8%) candidates, in which 153 (89.5%)
scored from 0 to 6.5 marks and 18 (10.5%) scored from 7 to 10 marks. The
general performance in this question was poor because 18 (10.5%) candidates
scored from 7 to 10 marks. The candidates’ scores are shown in Figure 2.2.
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Figure 2.2: Candidates’ Performance on Question 2

The analysis indicates that most parts of this question were not attempted well by
majority of the candidates. In part (a), many candidates failed to identify the
disease in part (a) (i) by giving the names of different diseases such as blight and
mosaic, instead of Fusarium wilt consequently. Failure to identify the disease
resulted into the failure to give the name of the causative agent of the disease and
writing its scientific name in part (a) (ii). The candidates also did not manage to
suggest the correct cultural control measures in the field, hence provided
incorrect responses like burrying of the crop residues, crop rotation, plant
spacing and flooding. In part (b), some candidates managed to give few reasons
as to why people study plant diseases. Majority of the candidates responded
incorrectly by giving responses such as knowing the habitats of pathogens, to
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know the right time of disease to attack crops, to get the knowledge of controlling
plant disease, to stop bad beliefs e.g. witch crafts when crops are affected by the
diseases, to assist people to know favorable conditions for disease occurrence.
Similarly, in part (c), the candidates were unable to explain major factors
influencing the occurrence of epiphytotic diseases in the field. The candidates
misunderstood the meaning of epiphytotic diseases, hence provided irrelevant
responses like presence of host plant, presence of pathogen, late planting. The
performances of the candidates imply lack of knowledge and practical experience
on plant diseases. Extract 2.2.1 illustrates one of the poor responses in question 2.
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Extract 2.2.1
This extract is a sample of poor responses from one of the candidates who lack

knowledge and skills on plant diseases.
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Most of the candidates who had average performance provided correct responses
in part (b), but responded incorrectly in parts (a) and (c). In part (a) (i), the
candidates failed to identify the disease while being given the symptoms. Some
of the incorrect responses provided were bacterial and viral diseases. Incorrect
identification of the disease caused the candidates also not to be able to identify
the causative agent of the disease and suggest cultural control measures for the
disease in part (a) (ii) and (a) (iii) respectively. In part (b), majority of the
candidates were able to give reasons as to why people study plant diseases.
Failure to define epiphytotic diseases caused the candidates to fail in explaining
the major factors influencing the occurrence of epiphytotic diseases in part (c).
This suggests that the candidates had insufficient knowledge on plant diseases.
Extract 2.2.2 is a sample of responses from a candidate with average performance
in question 2.
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Extract 2.2.2
The extract represents responses from a candidate with average performance. The
candidate provided correct responses in part (b) only.

2.2.3 Question 3: Crop Pests

This question consisted parts (a), (b) and (c) carrying 20 marks. The candidates
were required to; (a) state five fundamental principles of crop protection (b)
mention five effects of crop pests and (c) give the scientific names of the
following storage pests (i) Lesser grain borer (ii) Common rat (iii) Warehouse
moth, (iv) Red flour beetle (v) Zebrotes bruchid.
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The question was attempted by 235 (35.4%) candidates, among which 93
(39.6%) scored from 0 to 6.5 marks, 85 (36.1%) scored from 7 to 11.5 marks and
57 (24.3%) scored from 12 to 17 marks. The performance was good because 142
(60.4%) candidates scored from 7 to 17 marks. Figure 2.3 shows the distribution
of the candidates’ scores.

EWEAK
AVERAGE
EGOOD

Figure 2.3: Candidates’ Performance on Question 3

Candidates with good performance in this question provided correct responses in
parts (a) and (b), but failed in part (c). In part (a), the candidates correctly stated
the fundamental principles of crop protection and correctly mentioned the effects
of crop pests in part (b). However, majority of the candidates did not managed to
give the scientific names of the named pests in parts (c). In this part some
candidates failed to follow the scientific rules in naming organism. The general
performance indicates that candidates had good understanding in the topic on
crop protection. Extract 2.3.1 indicates an example of good responses from one of
the candidates in question 3.
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Extract 2.3.1

This is a sample of the responses from a candidate who performed well in most
parts of the question except for part (b) and (c) (iv).

The analysis shows further that the candidates who performed poorly in this
question provided incorrect responses in parts (a) and (c). Some of the candidates
provided correct responses in part (b). In part (a), the candidates failed to state the
fundamental principles of crop protection. Incorrect responses provided were as
coffee berry disease, causative agent - pygum spp, cultural control method; crop
rotation, early planting, use of resistant varieties, seed dressing, burning, proper
spacing. Other candidates in this group provided general methods of controlling
weeds and pests such as chemical, biological, mechanical, cultural instead of
crop protection principles. In part (b), a number of candidates managed to outline
the effects of crop pests. In part (c), the candidates failed to give the scientific
names of the named pests. Considering the responses provided by the candidates,
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it can be generalized that the candidates had poor knowledge on crop protection.
Extract 2.3.2 exemplifies one of the poor responses in question 3.
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Extract 2.3.2

This is a sample of poor response from the candidate who provided incorrect
responses to all parts of the question.

2.2.4 Question 4: Plant Diseases

The question had parts: (a) and (b) carrying 20 marks. The candidates were
required to: (a) briefly describe the following terminologies as used in plant
diseases (i) signs (ii) symptoms (iii) animated plant diseases (iv) abiotic plant
diseases and (b) identify causative agent, two typical symptoms and two control
measures for each of the following plant diseases (i) cotton blight (ii) tobacco
mosaic (iii) Black stem rust of wheat (iv) Groundnut rosette.

The question was attempted by 391 (58.9%) candidates, out of which 79 (20.2%)
scored from O to 6 marks, 206 (52.7%) scored from 7 to 11 marks and 106
(27.1%) scored from 12 to 18 marks. The analysis suggests that the performance
was good because 312 (79.8%) candidates scored from 7 to 18 marks. Candidates
scores are distributed in Figure 2.4.
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Figure 2.4: Candidates’ Performance on Question 4

The analysis indicates that most parts of the question were correctly attempted by
the majority of the candidates. A number of candidates provided correct
responses in most parts of this question. In part (a), most of the candidates clearly
described the named terms in part () (iii) and (a) (iv). However, many candidates
did not describe correctly parts (a) (i) and (a) (ii). Examples of incorrect
responses given by the candidates in parts (a) (i) and (a) (ii) were sign- this is the
physical effects of symptoms that show by the plant during inoculation of disease
to the plant for example wilting of the plant leaf, symptoms- is the appearance of
colour from light green to dark green. In part (b), the candidates correctly
identified the causative agent, typical symptoms and control measures for the
diseases named in parts (b) (i), (ii), (ii) and (iv). This indicates that the candidate
had adequate knowledge and field practical skills on the named plant diseases.
Extract 2.4.1 illustrates responses from one of the candidates who did well in
question 4.
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Extract 2.4.1

This extract is an example of responses from the candidate who performed well in

almost all parts of the question, exception for part (a) (i) and (ii).

candidates who performed poorly in this question provided incorrect
responses in almost all parts of the question. In part (a), the candidates incorrectly
described the named terms in parts (a) (i), (ii) and (iii). Few of the candidates
responded correctly in part (a) (iv). Examples of incorrect responses on the
named parts were signs-this is the physical structure appearance of disease in the
plant part species, symptoms- this is the internal and external appearance of
disease in the plant part, Animated plant disease- this is the process of normal
morphological which result to abnormal biological of non-living organisms. In
part (b), the candidates were also unable to identify the causative agent, typical
symptoms and control measures for named diseases in parts (a) (i), (ii), (iii) and
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(iv). Examples of incorrect responses provided were (i) Cotton blight; the
causative: phytosphore spp, the symptoms; appearance of spores, white powder
and black sports, control measures: early planting, timely harvesting (ii) Tobacco
mosaic; causative agent: phytosphora spp; symptoms: powdery mildew,
chlorosis, control measures; good sanitation, crop rotation. (iii) Black stem rust
of wheat; caused by uromycets, symptoms; formation of black dots, formation of
black spores, Control measures: Uprooting diseased plant, crop rotation (iv)
Groundnut rossete; causative agent: fungi symptoms; fomation of coloured dotes,
Control measures: crop rotation, use of fungicides. The performance suggests
that the candidates had poor understanding of the terms used in plant diseases and
the named plant diseases, as extract 2.4.2 illustrates in question 4.
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Extract 2.4.2
This extract is a candidate’s poor responses in which he/she did not do well in all
parts of the question.

2.2.5 Question 5: Introduction to Weed Science

The question comprised of four parts, namely (a), (b), (c) and (d) carrying 20
marks. The candidates were required to: (a) briefly explain six environmental
factors that affects the performance of the herbicides (b) give six reasons of
formulating pesticides (c) briefly outline three non-insecticidal pest control
measures available to farmers and (d) briefly describe five features that have
made weeds to have competitive edge.

The question was attempted by 609 (91.7%) candidates in which 34 (5.6%)
scored from 2 to 6.5 marks, 239 (39.2%) scored from 7 to 11.5 marks and 336
(55.2%) scored from 12 to 19 marks. The analysis shows that the candidates’
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performance was generally good because 575 (94.4%) candidates scored from 7
to 19 marks. Summary of the candidates scores is illustrated in Figure 2.5.

EWEAK
39204 AVERAGE
B GOOD

Figure 2.5: Candidates’ Performance on Question 5

The candidates who did well in this question had good performance in parts (b),
(c) and (d) but did not do well in part (a). In part (b), the candidates managed to
give reasons for necessity of formulating pesticides. In part (c), the candidates
provided correct responses on non-insecticidal pest control measures available to
farmers. Moreover, in part (d) the candidates managed to describe features that
have made weeds to have a competitive edge. However, most of the candidates
did not exhaust all the correct responses in part (a) which concern with the
environment factors that affect the performance of the herbicides. Generally, the
candidates were knowledgeable enough on matters related to weeds and their
control. Extract 2.5.1 indicates good responses from a candidate who performed
well in question 5.
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Extract 2.5.1
This extract is a sample of good responses from one of the candidate who did well
in all parts of the question, except that he/she missed one point in part ().

The candidates who performed poorly in this question were unable to provide
correct responses to almost all parts of the question. In part (a), the candidates
failed to explain the environmental factors that affect the performance of the
herbicide. The candidates provided incorrect responses like; time for application,
weed adaptability, resistance of weed. In part (b), most of the candidates failed to
give reasons of formulating pesticides. Examples of incorrect responses were to
ensure correct pesticides is applied, to ensure correct amounts of pesticides, to
ensure that the pesticides used is for the required pest, to facilitate proper
working of the pesticides in the field. Similarly in part (c), the candidates were
unable to outline the non-insecticidal pest control measures available to farmers.
Incorrect responses such as trap crop, close season, planting resistant varieties
were provided by the candidates in part (c). In part (d), most of the candidates did
not managed to describe five features that have made weeds to have a
competitive edge. They provided incorrect responses as: resistance of the weed,
adaptability of the weed. Incorrect responses provided by candidates is the
indication that the candidates had inadequate knowledge on the area of weeds and
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their control. Extract 2.5.2 shows a sample of poor responses from one of the
candidates in question 5.
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Extract 2.5.2
This extract exemplifies one of the poor responses from the candidate who

responded incorrectly in most parts of the question, except in part (c) where
he/she provided two correct points.
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2.2.6 Question 6: Introduction to Animal Health

The question consisted of four parts that is (a), (b), (c) and (d) carrying 20 marks.
The candidates were required to: (a) briefly outline five stages of the life cycle of
one host tick, (b) explain six damages caused by ticks on feeding to an animal (c)
mention five ways of controlling ticks in the pasture and (d) list four effective
characteristics of acaricides.

The question was attempted by 342 (51.5%) candidates, in which 62 (18.1%)
scored from 2 to 6.5 marks, 155 (45.4%) scored from 7 to 11.5 marks and 125
(36.5%) scored from 12 to 17 marks. The candidates’ performance in this
question was good because 280 (81.9%) candidates scored from 7 to 17 marks.
The distribution of the candidates’ scores is illustrated in Figure 2.6.
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Figure 2.6: Candidates’ Performance on Question 6

The candidates who had good performance in this question did well in parts (a),
(c) and (d). Most of the candidates could not exhaust all the points correctly in
part (b). The candidates correctly outlined the stages of the life cycle of one host
tick in part (a). The candidates were also able to mention ways of controlling
ticks in pastures, and correctly listed effective characteristics of acaricides in
parts (c) and (d), respectively. Nevertheless, most of the candidates did not
manage to provide all correct responses demanded on the damages caused by
ticks on feeding to an animal in part (b). Some of the incorrect responses on
damages caused by ticks provided by candidates were cause east coast fever
diseases and pains. Generally, majority of the candidates proved to be
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knowledgeable on ticks and their control. Extract 2.6.1 illustrates a sample of
good responses from one of the candidates in question 6.
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Extract 2.6.1
This extract shows an example of good responses from the candidates who
provided correct responses in almost all parts of the question, exception parts
(b) and (d).

Items response analysis from the candidates who performed poorly in this
question showed that the candidates responded incorrectly in almost all parts of
the question. In part (a), the candidates failed to outline stages of the life cycle of
one host tick by providing incorrect responses like: female tick lay eggs in the
ground, eggs hatch into larvae, the larvae change to nymph and engorged to
adults while still on the host, the larvae climb the tree and waiting the passing
animal, adults falls the ground and lay the eggs and died. In part (b), the
candidates failed to explain damages caused by ticks on feeding to an animal.
Incorrect responses provided were: causes the diseases to host, emaciation, lower
the qualities of products, cause the wounds to udder at milking period, lower milk
production. Additionally in part (c), the candidates were unable to mention five
ways of controlling ticks in the pasture by providing incorrect responses like
spraying animals with herbicides before grazing, biological control like birds,
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spraying herbicides with vegetation, cultivation/use of tick repellant plant. In part
(d), incorrect responses like; produces bad smell, under high ratio can cause
death of animal, are chemical in nature, mixed with water to form solution for
dipping were given as effective characteristics of acaricides which was incorrect.
The analysis revealed that the candidates had inadequate knowledge on ticks and
their control. An example of poor responses is shown in extract 2.6.2 in question
6.
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Extract 2.6.2

This extract is a sample of candidate’s poor responses. The candidate provided
incorrect responses in almost all parts of the question, but in part (c), he/she had
two points correct.

2.2.7 Question 7: Pasture Agronomy
The question was divided into four parts: (a), (b), (c) and (d) carrying 20 marks.
The candidates were required to: (a) account for the seven reasons which may
cause lack of legumes in the pastures, (b) describe four factors that affects yield
potential of pasture species, (c) briefly explain five qualities of a good pasture
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and (d) suggest four possible strengths of zero grazing as compared to other
systems of grazing.

The question was attempted by 588 (88.6%) candidates, out of which 57 (9.7%)
scored from 1 to 6 marks, 368 (62.6%) scored from 7 to 11 marks and 163
(27.7%) scored from 12 to 17 marks. Generally the performance was good
because 531 (90.3%) candidates scored from 7 to 17 marks. Figure 2.7 shows the
distribution of the candidates’ scores.
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Figure 2.7: Candidates’ Performance on Question 7

Item response analysis shows that candidates did well in most parts of this
question, exception for part (a). In part (b), the candidates managed to describe
factors that affect yield potential of pasture species. The candidates clearly
explained qualities of a good pasture and suggested the strengths of zero grazing
as compared to other systems of grazing in parts (c) and (d) respectively.
However, most of the candidates did not manage to provide all the points needed
correctly in part (a). This performance suggests that the candidates had enough
knowledge on pasture. Examples of good responses from one of the candidates
are illustrated in extract 2.7.1 in question 7.

86



r!(’a) Peason, for Hhe lack 6 wer tn Hrhure

(8 dequmos ax upposied by graues greses Cuppw

\Q_qwmu T oachuree hont Couse N’M o thsappenr

W po,,\M

G\J %Q‘.Ql’eh& ot +ho Om\ma\: Manq\o.mvmth w
(Oomm@-‘ than Gradies due tu ’Fd,vr‘ ndmhwe
valme Wng Cawe Ham To looke W pature o Pl

. tam more

use onry

j@)_ (i) Low ceasmg: TW‘\W apter being eden leaymmes

hove low ¢ Capneralion <blry Ao being  oden

‘D\q anmmals

(W) Compettiion gowm  shiubs and trees, thadhs and

biy,  frees cuppress  legumes Oh pattuse 3o soacch of

nutn ens

G/) begume reproduct by mans o Coaddr unliw graies whieh

ceprodu o \Iehdoa\vﬂ, Wiing Qhuw\ox o The un of scoels

U At Mo peifi? a3 han Wmpared to uegetuhive

Syowth  of  gyasser LWhd v me et and mf.,J

(\/9 LQ&\«N‘ Ao duer T HF o numbe, 3 foads a:ﬂvaa@n#

T arame:r whibh podues LTarspe numbe~ q—:eeaLr

and incmding Vene v groth

|
1
]
!

( \/.\'\3 Leq\nmm have I47)‘\)mc, ‘euvo.n (/JMJ‘) are Gn.l‘tl:,

48e—Coon 5\4 animals  as Clhplcol"fb GratRs whieh

mut oy them  bav®  pacrpw leaves hene animaly opt to

___eokt ‘i L?o‘umw ‘Io.r\cg Llack q—?hﬂ'\ln Pshure

MMA polenhal _or eaihwe  Species

(LS Sodl {e,‘hlch T gerhle o4 detecmine e Q‘“‘c’

'_tur! “‘hc:\' Mu\&k (M&\LOJ} fv nhin ~tre

fl.‘\ S Mol p,«-h\a hanco 1(.9\& \nGeate 4n¢l

q‘_ u et Lows MJQ hana  low j.gja‘ts ragutt

(\ﬂ et q”\d D\.(e.o-u, AMhan frere W occurena

Q}-Mmd Avecte  w poshnt Lem  Sonce

t gredld  potenn o) Aesercoie

ik

o]

87



QI Wah palatlilidy;  Gozd easture shoud have
heoh ?_dc\\*d;\ s honeg malking  tws anma) —fe

eo X ‘X well and animal ()rQ]g( <o Vot " bhenws

prieey uhhoaton = qu as an antmal an bt
S all withowt \-""*V“’L'_') MOCLNY remains uneaien -

”A) Sﬁen;’j@ oL <oy g&gnna\ s Omporoc" £ ofte.
— 7

Luglems ol groaing

("~\ Twe  €nocgy  w b codd be ULied by
Gn (el mm"'! v ong or€o tu  pagtuae
Land could be wiedd for mdu"‘um pPusrposel
O\N'\cx arvwih et an Grma ) Lxamols mdu&hm
of il )

(\|\ TH do nsh Gouss ©vesivm  oF foxl  ad ik
Aone  bv  cimhinous grabing <o omimali
Alusoms  Yemain  wnderduvrz ealihg  pashures
W\A«&\V e hvuglyr Tv Bam by fewrrors

S tooc)  svhih e Li=md by antprdls &

a‘oo\ Q\SB "F,ka_“ G Ao ‘pvsom.s—tl"\‘g ?mg,hul ~“o —h\%“
[‘P«;c& \,{.\4&-’ gheoo;n &5 0"\& m‘“"\‘“.‘u hono woe
;‘_gg:g\ mmq?n.\

(“‘_/) “The fowrmey Con el fucm recorcdlt  con\y a»\cl
o M“S‘: (R ¥\ —to o\o:\’ec:\' ~{ o attock: 9O
Atseoses amd '%%\&Ls Lonem  conimiling —S—M

oss !2; H e uwnhiwe ot Syt v U
‘\v«'—c)\ —ie AV ro-

Extract 2.7.1
This extract shows a response from the candidate who provided correct answers
to almost all the parts of the question, but failed part (a) (vi).

The analysis indicates further that the candidates who performed poorly in this
question failed to provide correct responses in most of the items. In part (a), the
candidates failed to account for reasons which may cause lack of legumes in the
pastures. Examples of incorrect responses given were: legumes has acid, it has
large amount of water, it contain large amount of ion, it contain large amount of
nutrients, it has more carbohydrate. In part (b), the candidates were also unable
to describe factors that affect yield potential of pasture species. For example, one
of the candidates responded: type of grasses, irritability, amount of water for
photosynthesis. Moreover, in part (c), the candidates had problems in explaining
qualities of a good pasture as they gave incorrect responses such as must be dry,
accountability, irritability. In part (d), the candidates also had difficulties in
suggesting for possible strengths of zero grazing. For example, one of the
candidates provided incorrect responses like need more labour, is the grazing of
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cutting grass animals and give in the room, The responses given by the
candidates is an indication that they had inadequate knowledge enough on pasture

agronomy. Extract 2.7.2 indicates one of the poor responses from one of the
candidates in question 7.
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Extract 2.7.2
The extract indicates responses from a candidate who provided incorrect

responses in almost all parts of the question, except for part (c) where the
candidate gave a correct point.

89



2.2.8 Question 8: Introduction to Animals Nutrition

The question consisted of three parts, (a), (b) and (c) carrying 20 marks. The
candidates were required to give brief explanation of how feed intake is affected
by (a) feed processing (b) animals associated factors (c) food associated factors.

The question was attempted by 360 (54.2%) candidates, in which 28 (7.8%)
scored from 1 to 6.5 marks, 148 (41.1%) scored from 7 to 11.5 marks and 184
(51.1%) scored from 12 to 19 marks. General performance in the question was
good, because 332 (92.2%) candidates scored from 7 to 19 marks. Candidates
scores are summarized in Figure 2.8.

AVERAGE
41.1%

Figure 2.8: Candidates’ Performance on Question 8

The analysis establishes that the candidates who had good performance in this
guestion managed to provide correct responses in all parts of the question. They
correctly explained how feed intake in farm animals is affected by feed
processing, animal associated factors and food associated factors in parts (a), (b)
and (c). In each of these parts the candidates provided most of the correct
responses, thus demonstrating good understanding of factors affecting feed intake
in farm animals. Extract 2.8.1 illustrates good responses from one the candidates
in question 8.
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Extract 2.8.1

This extract represents responses from a candidate who showed good
understanding of the factors affecting feed intake in farm animals. The candidate

missed one point in part (a).

It was also noted that the candidates who performed poorly failed to provide
correct responses in all parts of the question. In part (a), the candidates failed to
give explanation on how feed processing affect feed intake in farm animals. An
example of incorrect response was feed processing is the process of changing the
form of edible substances into smaller form in order to be easily assimilated,
absorbed and digested by the animal, hence this can affect the feed intake during
digestion because the amount of feeds is easily being fed to animals.
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Furthermore, the candidates gave incorrect responses such as growth rate of the
animal- normally animals which grow very fast requires more feed intake and
vice versa, animal factor- the consideration of the species of an animal to be
given the type of feed whether is male or female animals, feed composition- the
components to be mixed with feed should be considered, preparation of feed- the
feed should be prepared at a time which are suitable for the species of the
animal, feed ingredient - is the amount of feed composition eaten by the animal to
acquire the individual good health as explanations on how animal associated
factors affect feed intake in a farm animal in part (b). In part (c), the candidates
also did not manage to explain how food associated factors affect feed intake in
farm animals. Examples of incorrect responses given were, amount of feed - the
ratio of feed is equal to the ratio of ingredient required in the feed, sex of the
animal - biological difference between male and female due to feeding of feed
eaten, feed composition - the ratio of feed given to the animal is very high
nutrients and should be suitable. Candidates’ performance analysis implies that
the candidates had poor understanding of the factors affecting feed intake in farm
animals. Responses in Extract 2.8.2 shows poor performance from one of the
candidate in question 8.
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The extract is a sample of responses from one of the candidate. The candidate
provided incorrect responses in almost all parts of the question, but in part (c)

Extract 2.8.2

he/she provided only one correct point.

2.2.9 Question 9: Livestock Reproduction, Breeding and Improvement

The question had three parts, namely (a), (b) and (c) carrying 20 marks. The
candidates were required to: (a) (i) give the meaning of the term animal breeding
(i) briefly explain five usefulness of animal breeding in the improvement of
production (b) (i) elaborate five suitability of inbreeding systems in the
improvement of livestock.(ii) outline four negative effects of inbreeding in the
improvement of animal production and (c) enumerate five ways in which

animal

pedigre

e selection is important in the improvement of animals production.
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The question was attempted by 322 (48.5%) candidates, of which 193 (59.9%)
scored from 1 to 6.5 marks, 122 (37.9%) scored from 7 to 11 marks and 7 (2.2%)
scored from 12 to 17 marks. The general performance was average because 129
(40.1%) candidates scored from 7 to 17 marks. Figure 2.9 presents the
distribution of the candidates score.
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Figure 2.9: Candidates’ Performance on Question 9

In this question, candidates who performed well were able to give correct
responses in parts (a) and (b). However, most of the candidates provided poor
responses in part (c). In parts (a) (i) and (ii) the candidates clearly gave the
meaning of animal breeding and correctly explained the usefulness of animal
breeding in the improvement of animal production. The candidates also
elaborated well the suitability of inbreeding system in the improvement of
livestock, and correctly outlined its negative effects in parts (b) (i) and (b) (ii).
However, most of the candidates did not manage to enumerate ways in which
pedigree selection is important in the improvement of animal production in part
(c). Incorrect responses given were like pedigree selection is a quite effective as
proper records of ancestry are maintained at each generation, characteristics are
easily predicted and examined since proper records are maintained. The
analysis indicates that the candidates had an adequate knowledge on the concept
of animal breeding and inbreeding system. An example of good responses in
question 9 is illustrated in Extract 2.9.1.
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Extract 2.9.1

The extract represents responses with good performance. The candidate provided
most of the correct responses, but he/she missed some few points in parts (b) (i)
and (c).
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Analysis of the responses from the candidates who performed poorly in this
question showed that the candidates attempted incorrectly in almost all parts of
the question. In part (a) (i), the candidates failed to give the meaning of animal
breeding, the reason which also led them to fail in explaining the usefulness of
animal breeding in the improvement of animal production in part (a) (ii). An
example of incorrect response for the meaning of animal breeding was the
process of how to improve the production of the animal in terms milk, meat and
others while; it help animal in order to improve the rate of reproduction means
they reproduce faster, they provide animal which are essential for farm
operation. In part (b), most of the candidates also were unable to elaborate the
suitability of inbreeding and outline its negative effects in the improvement of
animal production in parts (b) (i) and (b) (ii), respectively. The candidates
provided responses such as in order to get pure breed animals, to have the
animals which have the same ancestor, to the animal which have the good quality
in the same ancestor, in order to know the performance record of their common
ancestor and it can cause the inheritance bad characteristics to the animal,
transmission of venereal diseases to the animals, the animal has bad quality like
poor production and are not resistant to diseases as negative effects of
inbreeding in the improvement of animal production. Likewise in part (c), the
candidates failed to enumerate ways in which pedigree selection is important in
the improvement of animal production. Responses like by considering the
performance record of their common ancestor, the body conformation of the
animals, the physiology of the animal either it is sick or health, The breed of the
animal which is highly productive, the age of the animal- by considering the age
which is suitable for production is 3-4 years justify poor performance in this part.
Generally, the candidates had inadequate knowledge on the concept of animal
breeding and breeding systems. Extract 2.9.2 is a sample of one of the poor
responses from one of the candidates in question 9.
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Extract 2.9.2
This extract is an example of poor response from the candidate who managed to
give only two points correct in part (a) (ii).

2.2.10Question 10: Environmental and Technological Challenges in Agricultural
Development

The question was divided into four parts, namely (a), (b), (c) and (d) carrying 20
marks. The question required the candidates to: (a) give the meaning of the
following terms (i) Biotechnology, (ii) Modern technology and (iii) Conventional
technology, (b) briefly describe three environmental risks associated with
Genetically Modified Organisms, (c) Identify four important effects resulted from
global warming that poses a big challenge to agriculture in most parts of
developing world and (d) briefly explain six potential benefits of Genetically
modified organisms in production of crops.
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The question was attempted by 213 (32.1%) candidates, in which 117 (54.9%)
scored from 1.5 to 6.5 marks, 90 (42.3%) scored from 7 to 11.5 marks and 6
(2.8%) scored from 12 to 17 marks. The analysis indicates that the general
performance in the question was average because, 96 (45.1%) candidates scored
from 7 to 17 marks. Figure 2.10 shows the distribution of the candidates’ scores.
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Figure 2.10: Candidates’ Performance on Question 10

It has been established that the candidates with good performance were able to
respond correctly to parts (a) (i), (b) and (d). In part (c), most of the candidates
provided correct responses for some items while failing in others. Similarly, most
of them failed to provide correct responses in parts (a) (ii) and (a) (iii). In part (a)
(i), the candidates managed to give the meaning of the term biotechnology. The
candidates also were able to describe environmental risks associated with
Genetically Modified Organism and explained correctly potential benefits of
Genetically Modified Organisms in production of crops in parts (b) and (d)
respectively. In part (c), despite the facts that most of the candidates identified
correctly important effects resulted from global warming that poses a big
challenge to agriculture in most parts of developing world but they could not
exhaust all the points correctly. Additionally, the candidates did not manage to
give the meaning of the terms modern technology and conventional technology in
parts (a) (ii) and (a) (iii) respectively. An example of incorrect response of the
meaning of modern technology from one of the candidate was the application of
science through modern method in organism like surgical methods and
equipment method, whereas conventional technology was defined as: is the
knowledge or application of science through conventional use in organisms,
occurs to organisms have god knowledge. The candidates proved to be competent
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enough on sustainable agriculture and genetically modified organisms. Extract

2.10.1 is a representative sample of good responses from one of the candidates in
question 10.
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Extract 2.10.1

This extract is a sample of responses from a candidate with good performance. The
candidate responded correctly in almost all parts of the question, except in part (a) (i).

The candidates who performed poorly in this question had almost all parts of the
question incorrectly responded. In part (a), the candidates failed to give the
meaning of the given terms. For example, in part (a) (i), biotechnology was
incorrectly defined as the study of application of science in living organisms by
one of the candidates. In parts (a) (ii) and (a) (iii), modern technology and
conventional technology were also incorrectly defined as modern technology is
the application of science through modern methods, while conventional
technology is the knowledge or application of science through conventional use
in organisms. Additionally, in part (b), the candidates were unable to describe
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environmental risks associated with genetically modified organism by providing
incorrect responses as global warming, deforestation, ozone layer depletion.
Similarly, the candidates failed to identify important effects resulted from global
warming that poses a big challenge to agriculture in most parts of developing
world in part (c). Examples of incorrect responses given were the global increase
in temperature makes growth of crops impossible, global warming cause cancer
to many people. In part (d), genetic engineering of bacteria has given rise to
discovery of ways to manufacture hormones and antibiotics to be used in life, it
helps in increasing level of economy to the farmers, it ensure the well utilization
of land by the farmer on production were some of the incorrect responses
provided by candidates as potential benefits of genetically modified organisms in
production of crops. These candidates had poor understanding in the sub-topic on
sustainable agriculture and genetically modified organisms. A sample of poor
responses in question 10 are indicated in Extract 2.10.2.
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Extract 2.10.2

This extract is a sample of responses from the candidate who performed poorly
in almost all parts of the question, except part (d) where he/she gave two correct
points.

2.3  134/3 AGRICULTURE 3

2.3.1 Question 1: Agricultural Engineering and Land Planning

The candidates were provided with specimens: E;-piston rings, E,-oil filter, Es-
clutch plate, F;-jack plane, F,-smoothing plane, Fs-sash clamp, F4-G-clamp, Fs-
cross pein hammer, G;-union, G,-Bushing, Gs-Tee, G4-Coupling, and Gs- Set of
galvanized pipes.

The question consisted of three parts, namely (a), (b) and (c) carrying 20 marks.
The candidates were required to; (a) (i) identify each of the specimen E;, E,, and
Es (i) suggest the two types of specimen E; and their functions,(iii) outline three
indicators that would alert the tractor operator that specimen E; is worn out (iv)
give the name of the unit in transmission system in which specimen Ej3 belong
and describe its operating principle (b) (i) identify each of the specimen Fj3, F4
and Fs (ii) describe the use of specimen F1, F, and Fs (iii) differentiate the use of
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specimen F3 and F4 (c) (i) identify specimen Gi, G,, G3 and G4 (ii) indicate the
arrangement of specimens and name the fitting they are going to use when they
want to join specimen Gs

The question was attempted by 664 (100%) candidates, of which 9 (1.4%) scored
from 5 to 6.5 marks, 337 (50.7%) scored from 7 to 11.5 marks and 318 (47.9%)
scored from 12 to 16 marks. General performance of the candidates in this
question was good because 655 (98.6%) candidates scored from 7 to 16 marks.
Figure 3.1 shows the distribution of the candidates’ scores.
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Figure 3.1: Candidates’ Performance on Question 1

Good performance of the candidates in this question was a result of providing
correct responses in most parts of the question. In part (a) (i) the candidates
correctly identified the specimen given, and they also suggested the two types of
specimen E;, and their functions in part (a) (ii) correctly. Likewise, part (a) (iii) of
the question that demanded the candidates to outline three indicators that would
alert the farm tractor operator that specimen E; is worn out was well attempted by
the candidates. The candidates failed to give the name of the unit in transmission
system in which specimen E3 belong, and to describe its operating principle in
part (a) (iv). Examples of incorrect responses provided in this part were clutch,
gear box, and transmission system. Generally, in this part, candidates showed
adequate knowledge and practical skills on area of engine parts.

In part (b), most of the candidates were able to identify the specimen given in
part (b) (i), and correctly described the use of the named specimens in part (b)
(i). In addition, the candidates also correctly differentiated the use of the named
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specimens in part (b) (iii) showing to be knowledgeable enough and adequately
equipped with practical skills on carpentry work.

In part (c), most of the candidates identified correctly the specimens provided in
part (c) (i), but failed to indicate the arrangements of the specimens to be used in
joining specimen Gs. In this part, most of the candidates failed to meet the
demand of the question because instead of identifying specimens they stated the
functions of the pipe fittings. This suggests that the candidates had inadequate
knowledge and practical skills on fitting pipes. An example of good responses in
question 1 is shown in Extract 3.1.1.

109



Qay T Thenrdy  ecthy of §petimnenn, Ty oma Tlaewr

V’\AMU\'\.\M) .

sPcwwuv., Pearr . Of SO AACAAS
E, Peston  rwa
E~ O Tulker
&3 Clueda  plake

(Q7M \:L\l Ewg Sl ol Seecimnen G emad \"A(.\y
“'b\vu)({o\,\) 3

“}“T ("“‘N" eliiom Yvan

= \.!.)q_,\ Yo Prevea the ‘eaune ok Cuvarrt ey

Vaedi ety between Hlae  Coluader  woald .

h& OO0 Lo\ Ay

e e \ekege — of — bamprtsceh Mgomoine-

- Wied Yo pvevenr  \eakewe . of  gu Svon Mg -

Cealec.  CverainCas e Yo Ve  @abuguuy,  Ouencber

&b Out iy VAl rre vadUewior ek W"Ml“\_e\"\’ e fun

et opecadoe Magh  specaae L—\ CS Wi ok, -

.(.\l L <ol wue 0; tue\ Oy 6\\ "m\ e rather eg\.\:\,\ e
- >

.Ltl eWW~v\~\ waLv v e %\A«,\A;\w (_w')\'.s‘- of e iuq,\

Aue ‘o \w\ku%c_ of oW (Uavd\  vuaan ¢

s

Ckl\r Thue eWewews, oF pwer braduy @uavme O reduced

Qe Yo wuwtonrruled quprfﬁiow val oy wtee whwadee

U Vo gave Yl v AWM wun e WO stasian Systesy

Wv’v\\‘b\. LPE Al EQ 19(“;.4,_) s gaaad O‘CJ(VLLC. i oot g,
‘)Vl.\;\_g\@\t.'

Parme of Yo tnnr ¥ Clurda

Opecarian - Waed Yo (ovm e Gandl Qo echk powte

\’V'V\AA \»\»\Q e\ oY @Auna e db\‘\\) ¢

110




o by B Vet ek o} yiaens Tg FyendfS
<Vtu.wwm Mo of  Speccvmens.
F4 Sasl, et Cawap -
Py (e v Oinionss
Fg Cross - parme Movame,
\'lb_‘}csu\\:e. Woouse b speiiinenon B By Gae Fr.
S!-C_Q\WQ“ ™.
"I\ o genwal curpoie plane used b bl Sty
amd_voupln tlhe e or wudd  Surtce ow wowd wak
Sretcmnen, . T4 .
=1\ (sused for .S\M.m:\«(w‘a Ve Surface or Aune obber
o Sub\a oy Eru‘ YA GAA ¢ .\N:u \)¢¢b\ u,Sgd.
gPCL\‘mc»\ ‘:c;
- Used  Sor c\.rw{u&' ey va\\;’ Swo% Cuadd \'wcf\-\'ms.
cu‘\l A ereutrpng e uuﬁ{- SPeummen, Fraud By
Specvmen  Fa NYTTICWONNI = V)
ﬁgﬁtt\.\v«.\,\ fj O wied fv- [ Specimen i‘f wied for
\'\o\dw\b’ wovd wak Oa Stk \"A‘\\“‘.‘s oloy ctks $ Cumely
posidon  Wen (':\_\Mt d\mw\, w&w \“‘1 ouk
\Ac.w-dghL Omf&k\‘o\« R
oA | T 'dewnly  Spew G Gy &LM Cry
Crecimmens | Mowan e of SOeciunens
G Uniow |
G Busklm\
Ga Tee
G\t_ Lowpl v

111




ol |<Y &\] Ow\&, 30 vaditabe At avtuneiveun 08 SPecinneng.
A\chr

\\,\_UYLQQ, ‘o “Lo\v\ CFECiimn 2nn C—tg- e \q&tw\s Yo b woaed

DA g providled  Qpecumewns G C

i Ty i e o
B iiisioiod £
?QT' i — b Vi

PP
ST At

CJ:L Specianan Cl3 SPeetanenn

Extract 3.1.1

This extract is a sample of responses from the candidate who performed well in
all parts, except part (a) (iv) and (c) (ii) where he/she provided insufficient
responses.

Few candidates who performed poorly had incorrect responses in parts (a) and (c)
(ii). Most of the candidates provided correct responses in parts (b) and (c) (i). In
part (a), the candidates failed to identify the specimens provided in part (a) (i),
consequently failed to suggest types of specimen E; and their functions.
Moreover, due to inadequate knowledge and practical skills on parts of the
engine, the candidates failed to outline indicators that would alert the farm tractor
operator that specimen E; is worn out in part (a) (iii). The candidates also did not
manage to give the name of the unit in transmission system in which specimen E3
belong, and failed to describe its operating principle in part (a) (iv). Similarly, in
part (c) (ii), the candidates were unable to indicate the arrangements of the pipe
fittings to be used in joining specimen Gs. Instead of indicating the arrangements
of the pipe fittings, most of the candidates outlined the functions of the pipe
fittings. Other candidates responded incorrectly by drawing the pipe fittings. The
incorrect responses provided by the candidates in this part justify their poor
knowledge and practical skills on fitting pipes.

However, most of the candidates exhibited good understanding and practical
skills on carpentry work by responding correctly in part (b) of the question. The
candidates identify correctly the specimens in part (b) (i) and described well the
use of the specimens given in part (b) (ii). The candidates also managed to
differentiate the use of the given specimens in part (b) (iii). In addition, they
correctly identified the specimens provided in part (c) (i). Extract 3.1.2 is a
sample of responses from a candidate who scored low marks in question 1.
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Extract 3.1.2
This extract is an example of poor responses. The candidate only managed to
identify some of the specimens in part (a) (i), (b) (i) and (c) (i) only.

2.3.2 Question 2: Crop Science and Production and Soil Science

The candidates were provided with specimens: Hi-Triple superphosphate (TSP)
fertilizer, H,-Sulphate of Ammonia fertilizer, 1;-Tomato plant suffering from
bacterial wilt, 1,-Cassava leaves affected by mosaic virus and I3-Maize weevil.

This question had two parts, (a) and (b) carrying 15 marks. In part (a), the
candidates were required to (i) identify specimen H; and Hy, (ii) outline four
characteristics of specimen H,, (iii) give the use of specimens H; and H,, (iv)
state the stage of crop development in which spacemen H; is recommended for
application, (b) (i) identify specimen I, by its botanical name, (ii) mention the
disease in specimen Iy and its causative agent, (iii) identify the disease in
specimen Iy, (iv) list two methods in which the disease in specimen I, is
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transmitted, (v) write scientific name of specimen I3, (vi) mention three crops that
are the main host of specimen I3 and (vii) suggest whether I3 is a field or storage
pest, and give two reasons for the answer provided.

This question was attempted by 664 (100%) candidates, of which 36 (5.4%)
scored from 2.5 to 5 marks, 285 (42.9%) scored from 5.5 to 8.5 marks and 343
(51.7%) scored from 9 to 13 marks. Generally, the performance was good
because 628 (94.6%) candidates scored from 5.5 to 13 marks. Figure 3.2 is the
candidates’ scores in the question.

EWEAK
AVERAGE
EGOOD

42.9%

Figure 3.2: Candidates’ Performance on Question 2

Candidates Items Response Analysis indicates that the candidates with good
performance provided correct responses in most parts of the question, but failed
in part (b) (i), (ii) and (vii). In part (a), most of the candidates responded correctly
by identifying correct specimen in part (a) (i). In part (a) (ii), the candidates also
managed to outline the characteristics of specimen H,. In part (a) (iii) they were
able to give the use of the named specimens, and in part (a) (iv) of the question,
the candidates correctly give the stage of crop development where specimen H is
recommended for application. In this part, the candidates showed good mastery
of fertilizers’ use and application. Moreover, the candidates managed to identify
diseases in specimens I, and I, in parts (b) (ii) and (iii), respectively. The
candidates listed correctly the methods in which the disease in specimen I, is
transmitted in part (b) (iv), as well as mentioning correctly crops that are the main
host of specimen I3 in part (b) (vi). However, the candidates failed to write the
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scientific names of the specimens in part (b) (i) and (v). Most of the candidates
misspelled the scientific names required.

In part (b) (vii), the candidates suggested correctly area of attack for specimen I3
but failed to give reasons to support their answer. An example of incorrect
response was I3 is a storage pest because it attack dry crops. Generally, the
candidates had good mastery on plant diseases and crop pests. Extract 3.2.1 is a
representative sample of good responses in question 2.
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Extract 3.2.1

The extract illustrates responses from a candidate who performed well in all parts,
but failed in part (b) (ii) and (v).

The analysis indicates further that the candidates who performed poorly provided
incorrect responses in most parts of the question with exception of part (a), most
of the candidates provided incorrect responses in all other parts. In part (b), the
candidates failed to identify the diseases in part (b) (ii) and (iii), whereas in part
(b) (iv), the candidates did not manage to list methods in which the disease in
specimen I is transmitted. In part (b) (i) and (v), the candidates were unable to
write the scientific names of the given specimens. In these parts, most of the
candidates either misspelled the names or failed to follow the rules in naming
organisms. Similarly, the candidates failed to mention crops that are the main
host of specimen I3 in part (b) (vi), and failed to suggest whether specimen I3 is a
field or storage pests with reasons to support their answers. The responses given
by the candidates in these parts suggest that the candidates lacked knowledge and
practical skills on plant diseases and crop pests.
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Nevertheless, most of the candidates in this group responded correctly to part (a)
(i) and (iii) of the question that generally required them to identify fertilizers
together with their use and application. Extract 3.2.2 is one of the responses from
a candidate who had poor performance in question 2.
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Extract 3.2.2

The extract illustrates a sample of a candidate’s poor responses. The candidate
responded incorrectly in all parts of the question, but failed in part (a) (iii) and

(b) (ii).
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2.3.3 Question 3: Livestock Science and Production

The candidates were provided with specimens Ji;-Rhodes grass, Jz-
Elephant/Napier grass, Js-Water snail and J4 -Liver fluke.

The question consisted of two parts, namely (a) and (b) carrying 15 marks. The
candidates were required to: (a) (i) identify the specimens Jy, J,. J3 and J4 by their
scientific names (ii) explain briefly how best can specimen J; and J, be preserved
(iii) give three reasons why farmers conserve specimens J; and J, (b) (i) briefly
describe how farm animals could be infested by specimen Ja, (ii) name two farm
animals which are common host of specimen Js, (iii) briefly explain the
relationship between J; and J4. and (iv) outline three ways by which specimen J4
may be controlled from infesting farm animals.

The question was attempted by 664 (100%) candidates. Among them, 69 (10.4%)
scored from 1 to 5 marks, 290 (43.7%) scored from 5.5 to 8.5 marks and 305
(45.9%) scored from 9 to 14.5 marks. The analysis indicates that the general
performance was good because 595 (89.6%) of the candidates scored from 5.5 to
14.5 marks. The candidates’ scores are summarized in Figure 3.3.
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Figure 3.3: Candidates’ Performance on Question 3

It was noted that the candidates with good performance did well in most parts of
the question, except part (a) (i) and (ii). In part (a) (iii), most of them were able to
give reasons why farmers conserve specimens J; and J,. Their responses suggest
that the candidates had knowledge on fodder crops. In part (b), the candidates
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correctly described how farm animals could be infested by specimen J, as well as
naming correctly farm animals which are common host of specimen J4, in parts
(b) (i) and (ii), respectively. The candidates also managed to explain the
relationship between specimens J; and J in part (b) (iii), and outlined correctly
ways by which specimen J, may be controlled from infesting farm animals in part
(b) (iv). However, most of the candidates in this group failed to identify the given
specimens in part (a) (i) by misspelling their scientific names. Some of incorrect
responses for scientific names of specimens were Elephant grass/Napier grass-
Penisetum purparium and Liver fluke-Fusiola species. The candidates also failed
to give the best way on how specimens J; and J, can be preserved in part (b) (ii).
A sample of responses from a candidate who performed well in question 3 is
shown in Extract 3.3.1.
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Extract 3.3.1

The extract is a sample of responses from the candidate who managed to provide
correct responses to most parts of the question, except in part (a) (i) for specimen
Ja.

Further analysis shows that, the candidates who performed poorly in this question
were unable to provide correct responses to parts (a) (i), (iii), (b) (iii) and (iv).
Most of the candidates responded correctly to parts (a) (ii), (b) (i) and (ii). In part
(@) (i), the candidates failed to identify the given specimens by their scientific
names. Examples of incorrect responses provided were Rhodes grass- Tripsacum
laxum instead of Chloris gayana and Elephant grass/Napier grass- Penisetom
perperiam instead of Pennisetum purpureum. In part (b) (iii), the candidates also
were unable to explain the relationship between specimens J; and Js;. They
provided incorrect responses such as specimen Js and J, can be obtained from
grass of animal or water, all can cause disease to animals when entered to the

animal body, animals such as cattle lose appetite during eating. Examples of
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incorrect responses provided by the candidates for ways in which specimen J4
may be controlled from infesting farm animals in part (b) (iv) were to ensure
clean and fresh food are provided to the animals, provision of medicine to
animals, prevent mixing of animals for example pig and goat. Their incorrect
responses in most parts of the question imply lack of good understanding of
livestock parasites.

It was also noted that, some candidates managed to identify the specimens
provided in part (a) (i) and correctly gave reasons for farmers to conserve
specimens J; and J, in part (a) (iii). Additionally, the candidates managed to
describe how farm animals could be infested by specimen J, and name farm
animals which are common hosts of specimen Js in part (b) (i) and (ii),
respectively. Poor responses from one of the candidates are indicated in Extract
3.3.2 in question 3.
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Extract 3.3.2

The extract is a sample of the response from the candidate who performed poorly
in all parts of the question, except part (b) (ii).
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3.0 PERFORMANCE OF CANDIDATES IN EACH TOPIC/FIELD

The analysis of the candidates’ items responses in different topics and field in
2019 examination indicates that the candidates had good performance in most of
the topics/field examined. Performance was considered as good if percentage of
the candidates who scored an average of 35 marks and above falls in the range of
60-100, if the percentage of the candidates who scored an average of 35 marks
and above falls in the range of 35-59, the performance is average and if the
percentage is less than 35, the performance is poor.

Considering that criterion, the topics/field which had good performance were;
Agricultural Engineering and Land Planning (98.6%), Crop Science and
Production and Soil Science (94.6%), Introduction to Weed Science (94.4%),
Farm Structures (93.8%), Introduction to Animal Nutrition (92,2%), Pasture
Agronomy (90.3%), Livestock Science and Production (89.6%), Introduction to
Animal Health (81.9%), Farm Power (79.2%), Agricultural Production
Economics (77.1%), Farm Workshop (73.2%), Introduction to Irrigation (62.8%),
Introduction to Agricultural Prices (62.4%) and Crop Pests (60.4%).

On the one hand, topics on Farm Mechanization and Machinery (53.7%),
Introduction to Soil Science (50.6%), Plant Diseases (45.2%), Environmental and
Technological Challenges in Agricultural Development (45.1%), Introduction to
Soil Chemistry (41.2%) and Livestock Reproduction, Breeding and Improvement
(40.1%) had average performance. On the other hand, candidates performed
poorly in the topic on Plant Breeding (12.9%).

In both years 2019 and 2018, the topics and fields examined in ACSEE were 21.
In 2019 ACSEE results, topics and fields with good performance were 15, 5
topics had average performance and 1 topic had poor performance compared to
2018 ACSEE results in which 17 topics/ fields had good performance, 3 topics
had average performance and 1 topic had poor performance.

The performance rate of the candidates in 2019 has increased compared to 2018
results because more candidates passed in 2019 than in 2018.

Performance of the candidates in each topics/fields is shown in Appendix I.
Green colour denotes topics/fields with good performance, yellow colour
indicates topics with average performance whereas red colour shows topic with
poor performance.
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40 CONCLUSION AND RECOMMENDATIONS
4.1 Conclusion

4.2

The analysis shows an increase of 0.28 percent pass rate in ACSEE 2019
compared to 2018 results. In this year’s examination, 98.49 percent of the
candidates who sat for the examination passed compared to 98.21 percent who
passed in 2018 examination.

The general performance of the candidates’ shows that majority passed, but their
scores were low. Among the candidates who passed the examination 538 (82.26%)
attained the lower pass grades D, E, and S while 116 (17.74%) of the candidates
attained the upper pass grades B and C. None of them attained grade A in this
year’s examination.

Analysis of candidates items response revealed several factors that have
contributed to the majority to score low pass marks. This include candidates not
having good understanding of the topics. It was observed that the majority of the
candidates had inadequate knowledge in different topics that were examined. This
was evidenced from candidates responses provided either incorrect or insufficient.
Additionally, other candidates skipped some of the questions.

Candidates’ inadequate knowledge in various topics was also associated with
inadequate field practical experiences. Practicals translate theory into actual
practice and students learn better by doing. There were questions in the theory
examination which needed practical skills in addition to classroom knowledge for
candidates to have attempted them well. Hence insufficient practical experienxes
resulted into their failure.

In some cases, in different items in the questions, candidates did not fulfill the
requirements of the questions. Candidates, failed to identify the tasks in the
questions properly, hence they provided responses that were not related to the
demands of the questions.

On the other hand, responses from few candidates who scored high marks in the
examination indicated that the candidates possessed adequate knowledge and
practical skills that enabled them to meet the demands of the questions.

Recommendations

Performance rate of the candidates in this year’s examination has increased
compared to the year 2018 results. However, majority of the candidates passed
with lower pass grades. Collective effort from education stakeholders particularly
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teachers and students is needed in order to improve performance of the
candidates. The following are recommended so as to increase the performance in
future examinations.

(@)

(b)

(©)
(d)

(€)

(f)

Teachers should make effective use of enabling infrastructure in the subject
such as school farms, garden and farm workshop which translate theory into
practice because students learn better by doing.

Teachers should effect appropriate teaching/learning strategies as per
demand of the topics.

Subject teachers should use team teaching technique to teach various topics.

Teachers should orient their students with key terms used in examination
questions by using them in continuous assessment exercises.

Teachers and students should spend extra hours to enhance students’
understanding, especially to those topics which are more demanding than
others.

Students should be encouraged to be inquisitive and look for various
sources of materials and references that suit the demand of the syllabus.
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Candidates’ Performance in Different Topics in ACSEE 2019

Appendix

S/N

Topic/Subtopic

2019

Percentage of
Candidates who
scored the average
of 35% and above

Comments

15.| Farm Mechanization and Machinery 53.7 Average
16.| Introduction to Soil Science 50.6 Average
17.| Plant Diseases 45.2 Average
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2019
Percentage of
S/IN Topic/Subtopic Candidates  who
scored the average
of 35% and above
18.| Environmental and Technological | 45.1 Average
Challenges in Agricultural Development

Comments

19.| Introduction to Soil Chemistry 41.2 Average
20.| Livestock Reproduction, Breeding and | 40.1 Average
Improvement
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